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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

Answer all the questions.

GROUP-A
[Advance Organic Chemistry]
1. Answer any five from the following questions.
2x5=10
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1)  Explain the fact that the ethylamine is basic but
acetamide is acidic in nature.
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11)  O-Toluidine reacts with nitrous acid and forms
diazonium salt but benzylamine not; explain.
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iii)

vi)

vii)

Malic acid can be considered as o or § -
hydroxy acid - Explain.
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Glucose and Fructose have the same moleculas
formula, but why does Glucose have 16 optical
1somers and Fructose only 8?
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Glucose is a hemiacetal compound - explain.
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Prove that Glucose Contain One - CHO group.
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Write the base catalysed hydrolysis of ester and

its mechanism (B, . mechanism).
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2. Answer any one from the following questions.

10x1=10
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a)
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Write short note of the following:

)Y Bl @1

(2)



b)
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1)  Osazone Reaction
aAicee i
11)  Mutarotation
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1i1) Hoffmann elimination reaction
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iv)  Hell-Volhard-Zelinsky reaction
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3+3+2+2=10

Convert the following :
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1)  Aldohexose — Aldopentose
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11)  D-Fructose — D-Glucose
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iii) Potassium Phthalimide — Glycine
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iv)  Nitrobenzene — Azobenzene
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GROUP - B

[Industrial Chemistry]

Answer any five from the following questions.

2x5=10
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i)

Vi)

783/Chem.

Write down the structure of Nylon-66 and
Terylene.
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What are the basic components of paints? What
is latex paint?
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Why are enzymes used in detergent?
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Describe the common method of citric acid
production.
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What is condensation polymer? Give an
example.
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What are the differences between natural rubber
and synthetic rubber? Explain with examples.
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vil)) Why Aspergillus Niger used for citric acid NH,

production?
M2 wibie tofice symHiEis igee < v) —> Methyl Orange (fiefzer we)
A (PA? SO,H
4.  Convert any four of the following: 25 x4=10 o
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vii) — > Crystal Violet.
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Cl Cl
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ii) ——> Aldrin (sfe) S
Cl Cl

OH
iii) @( __ 5 Aspirin (spiRRe)
NH COCH,

1v) ——— Sulphadiazine Gieifeifes )

Cl
V) @ —> Paracctamol (~prifioe )
NO,
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